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3 : C 21040

Mr. X has invested in XYZ Chemicals. The capité.ﬁzatiox;rate of the company is 15% and the
current dividend is Rs. 2 per share. Calculate the vaiue of the company’s equity share if the
company is slowly sinking with an annual decline rate of 5% in the dividend.

Discuss Efficient Market Hypothesis.

Firms A, B and C are similar. Firm A is the most progressive and trades at a P/E ratio of 18.
Firm B is less progressive, is not publicly traded, and has EPS of Rs. 1.20. Firm C is the least
progressive and trades at a P/E ratio of 15. What is the intrinsic value of firm B as per P/E
method ? ] :

What are the basic principles of technical analysis ?
Explain the features of forward contracts.
Discuss the functions of SEBI.
(6 x 4 = 24 marks)
Part IV

Answer any two questions.
" Each question carries 15 marks.

Explain the features of an investment programme.

A stock that pays no dividends is currently selling at Rs. 100. The possible prices for which the
stock might sell at the end of one year, with associated probabilities are :

End-of-year Price (Rs.) Probability
90 0l .
100 0.2
110 0.4
120 0.2
130 } 0.1

(a) Calculate the expected rate of return by year-end.
(b) Calculate the standard deviation of the expected rate of return.

Discuss the procedure of industry analysis.
(2 x 15 = 30 marks)



